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(1.2.5.6.9.10.15.16) - 51E84+=(5.6.10) - LR(RLATMAEIN(R - S2H1(5.6.15) - HUSERE(5.6)
=|- LLXNEH(5.6) 2t=71(9) A1)(1.2.5.6.13.17.18) | - ZXXHES - HADI|ZOIEE
Al B E s - PHUXNH(5.6.13) - CtAIDI2=(5.6.18) - 224 X1(9) (1.2.5.6.10.16.18)
(1.2.6.10.12.13) - AF/2004 - 20124 XI(9) - HEIE(5.6) - BiE=Z2XI(9)
- H2ARI(9) - B3I - HELELE - 8t
- 01=Jt2(2.5.13)
ABY (229) NEY (£2%) NBY (£23) NBY (£23) ABY (£29)
EEETRY EESN [EQEXZHS S [2cag] EETN
IsEE (252 IISHE(ZLBYS) (10.00ka)|2HE (LEAEH)/24 (4.00L) |2 (KH2H=) (0.20L) IsHE (252
(10.00kg) IF(BII)/ABZ (1.00kg) |2EF (6.00kg) DEH(DAPBF)/LRA(A |(10.00kg)
I (EIIH)/EEY (1.00kg) |WA(W0))/2E (47.00kg) | DEIE/ZL (0.40kg) E), 4422 (24.00kg) JIF(ZIIZ)/E& (1.00kg)
Qi (0]) /RIS (47.00kg) |H2I(ZP21)/&SY (1.00kg) |JISHEE(LELE) SHEM (2L @y (240]) /&I 8 (47.00kg)
2(222))/88Y (1.00kg) |+4(X44)/@2Z (1.00kg) |(10.00kg) (10.00kg) Ze|(&2el)/2e (1.00kg)
S (R4a)/ESZ (1.00kg) |EE(H01)/R&A (10.00kg) |HXDI(KCH2I, 2X)/LE |L2/HHE2 (7.00kg) L4 (Xp44)/E &Y (1.00kg)
Zu(B0)/ASZ (10.00kg) |[RPEEZ2] (52.00kg) Ohs/2ERA(22), BXRA |&2(301)/Z & (10.00kg)
EEREESY 2XH/ZBERA(221) (10.00kg) |OHS/ZEEH(221), B [(0.90kg) EEEEE
2T (W) (0.70L) DE(EDF(FDE))/F2Z |(0.90kg) W (WO|)/&I S (49.00kg) [2E(TW2H2HE) (1.00L)
DENZ/2L (0.40kg) (0.50kg) Byu(WO|)/ABY (52.00kg) |£2(2AZ) (0.90kg) DF(BSDF(21F))/A8Y
AR (B=AX)/SHA212 | DEF (1.20k0) MY/ HEBH, BEMH () |SUNS(GH=2tR) (3.000)  [(0.20kg)
(14.00kg) CHAIDH/ 2RI (A Z) (1.60kg) |(0.70kg) &J18/24 (0.50L) CHAIDH/ 22124 (2 X) (1.60kg)
CHAIOH/2RIZ (1) (2.00kg) |Z2/KIES2! (1.60kg) Hg(2g, 0IADHIE) &a(S01)/283 (10.00ka) |OHS/ZEHH(ZZ), BXHH
S2/MES (1.60kg) S (HWFSE) (4.00kg) (2.00kg) HZ (0.60L) (1.00kg)
XD (25)/MHS OHs/ZEMAN(22), BUMH [ST/ZEHH(22) (14.00kg) |2EErRIBA (MBO0IBIR) /&S |SX (2L, HEY) (1.60kg)
(16.00kg) (0.80kg) SUMR(GH=etR) (5.000) | (7.00kg) 2(ZHR)/HEH (20.00kg)
DHS/ZEMAN (), BN [ZX(2SX, HE) (2.00kg) |[F2(RXEE)/Z4 (1.50kg) |THEIN/ZEHH(22) DILt2l/ &8 (2.20kg)
(0.70ko) 2(XHL)/HSY (1.60kg) |EIIS/24 (0.500) (1.00kg) M2/HEH, DEHH (D)
P(ZH2)/HES (1.60k) | PH=/LES (1.60k0) Zu(0)/A&F (10.00kg) |ES(LES)/OHT (10.40ka)  |(0.30kg)
2(F243) (0.70kg) TH/ZEHH(22) (10.00kg) [EF (0.90L) ENERE £2(2243) (0.10ko)
Al mm( YIARSEAANX)  [RE/ZL (4.00kg) K= (=ZXIZ) (21.00kg) DEF (1.20kg) MZ(ADHAE) (0.60L)
(10.00kg) DH(CHIH) /2R R A (2421 SOHE(AHE0HE) (19.00kg) |2CH/AEZ (32.00kg) OFRI &/ 2 At (45. OOkg)
cr [#HBI(&M5FBI) (8.00kg) |(1.30k) E0LEAA (14.00kg) CHAIOH/2RIZH(1X) (1.70kg) |STH/ZERINH(242!) (5.00ko)
42/HEZH (4.00kg) SuH(0HSe)/@ 2 (13.00kg) |DH(CHIH /2IE R (242) S2/MEEZ (1.70kg) HF (0.90L)
ot =/ 2 &1 (1.60kg) (6245 (1.80kg) ST (HFER) (4.00kg) DHHTH /2 EHA (22)
W orm/zimmoi(220) (8.30kg) |SRDOI(RT2I, ®X)/BSS |LE23H( w2 IT2I51)/@eH2 [OFs/ZE M (221), ZUMH (2. 10kg)
HF (0.90L) (106.00kg) (5.00kg) (0.60kg) Sx(22M) (0.01kg)
o |2L2/88 (8.30kg) E1F (4.00kg) DHERISHEMTIE2I5H) /A 8 2R (2SR, HY) (2.20kg) |[BLUSERE]
TH(CHIF) /22 A (2021 2ZX0b2I/2RIZ(AE) (0. 10kg) | (5.00kg) 2ZHR)/HEH (1.70kg) |DEF (2.60kg)
(1.20kg) OHs/ZEMMN(22), BUMH |S=(224) (0.01kg) £2(F223) (0.20kg) DENT/2L (0. 10kg)
se(uctel, ®X)/28 (1.60kg) [22IATIHE (RA)] LU=/ EF (1.70kg) THOETH) /S22, ZERH (2
(6.00ko) M/Ee, ZAMA(Z2)  |OHs/ZEMA(Z2), BMH |ST/ZERA(22) (5.00kg) |X) (0.30kg)
Sx(22M) (0.01kg) (1.60kg) (1.40kg) DH(CHIH) /2R R A (2421 ODhs/2EHA (), BXHH
EEDES £3(BA3) (0.50kg) HEXI2tat/ 24 (5.00kg) (0.80kg) (0.10kg)
2AF/EUE (4.00L) SOH2ERA(D2) (5.00kg) |WEZZ (0.75ka) EET! HasE /24 (1.00L)
2ATH(L2AR)/E S (53.00kg) |HF (1.80L) HEf (0.90kg) 2F/EE (3.000) 2% (#2%) (0.70kg)
THOETH)/S22, ZERN(2 |DHDH/ZERA(22) Hg(2g, 0IADHIE) DROHZEHH(2H) HEH(AY, OIARHE)
21) (0.40kg) (2.00kg) (1.00kg) (14.00kg) (0.60kg)
Ohs/2EHH (), BXHH £3(BA3) (0.60kg) D= (3.00kg) £32(3243) (0.50ka)
(0.60kg) ADHEIAA(ZRI2E2IQ)  |DEIIZ/24 (0.60kg) AZE(AMDAIZE) (0.30L)
2% (#2%) (5.00kg) (14.00kg) MR/, ZEMH (R |&IIS/24 (0.300)
HEHBY, DIADHIE) ST/ 2 A (22) 21) (0.40kg) FLt2/E 22 (18.00ko)
Wl /EE S (2.00kg) DHETH /2 EHA(22)
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AZY (AR) AZY (AQ) AEY (LAQ) AEY (LAQ) AZY (AR)
(1.00kg) S (F25=F) (0.10kg) (18.00kg) SDII(OrSA, ortalal) /=24 [(0.90kg)
ZIIE/=4 (0.30L) [2=D]] QIO /HEAUSA(242A), TH |(34.00kg) [HADIIZolx=E]
[HAE =] 2X(ZSI]) (34.00kg) M2 (MZE) (5.00kg) SDII(FHCI2l4) (32.00kg) |2+H&/Z=&= (2.00L)
CEIRIHA /R (20.00kg) |[SEAH] A4/ YA (AX) S2/HIEBH2A (5.00kg) IF(FE20F(80F))/8&d
SF2F (L) (4.00kg) DFE(E20F(810F))/&ZF |(0.01kg) EHE0|H(2AEHB0|H) (0.30kg)
S2/MNEBH2 (3.00kg) (0.40kg) SHMK(Its2ty) (5.000) (13.00kg) DE(ZDF(H10F))/283
YR DI(HCIel, SX)/e+8 |DF(ZDF(HDF))/ES#E [XIX(DOFMRIZ(R)) (1.00kg) |OFS/ZEMH(2424), ZXIR A |(0.30kg)
(40.00kg) (0.40kg) TFAEH( AT AIZ]) (10.00kg) |(0.60kg) 2AA/Z 4 (0.60kg)
M2/ RS, PEMH(2E2A) DEZFE (2.30kg) OFAEHII2Zd) (10.00Kkg) SR (H22A) (1.20kg) M(BEM(ELR))/ 52
(0.70kg) MEM)/E22, BEMH (2 |TtE21/=4 (1.00kg) MA/REA PEMM(2A)  [(0.30kg)
SE(/Y, OtABHIE) 21) (0.40kg) mEel/LRI2A(24E) (0.01kg) |(0.70kg) CHAIOH/ Z 2124 (A Z) (0.20kg)
(1.90kg) =28 A (4.20kg) TE2IH ST TeIL) /28T |88 (2Y, OIADHIE) S2/MIEBEH2 (4.00kg)
A3(Z43) (0.50kg) =& (8.00kg) (3.00kg) (0.80kg) OFs/2EMH(22), BXIMH
A (AFDFAIZE) (1.50L) Ots/2ZEMA(22), BAUMAH |DHE2IIH( EHAMOIEL|I}) /& 2HA [ 2o =/& 22 (10.00kg) (0.50kg)
ST/ ZEMA(242A) (5.00kg) |(0.50kg) (3.00kg) SO/ ZEHHA(22) (10.00kg) [AH2H/RSE, 2B (2H2H)
Q0I(JHAIR0]) /&l &+ A BH(AID) (2.00kg) ZZMS (2.700) SHMK(It=s2ty) (5.000) (0.20kg)
(3.00kg) AFDH(EAE, EXI) (2.00kg) MY (HOY)/&EA (3.00kg) |&HIIS/24 (0.30L) HE(/Y, DIARHIE)
S24EX2 (4.00kg) SE(Rg, OtADHIE) SEHa/24 (6.00kg) H3 (1.100L) (1.70kg)
/(X)) (3.60L) (1.00kg) SE(84M) (0.01kg) THOCHIF) /2R F A (2H) Mgi2l/Let (0.50kg)
SUMS(SH=ete) (90.00L) |22 (F242) (0.60kg) [CHAIDIR =] (1.60kg) O/ 2 E M (22) (8.00kg)
HE(AXNHE)/24 (8.00kg) |LOH/ZERAH(2t24) (5.00kg) |2HE(012FZ) (0.20L) Sx=(Z24) (0.01kg) M2 (LREE)/24 (0.50kg)
3 (1.000L) SHMK(Its2ty) (2.000) 2HE(TH2H2HR) (0.60L) 2HHss] A D10l (90.00kg)
E0IE(2SE0LE) (4.00kg) |EIIS/24F (0.60L) DE(XEDF(F0F))/38F | 2X/BEMH(2E2A) (39.00kg) | &3 (0.50L)
E0EHE /ISR ZE EHAS Z (AFOICH) (1.50L) (0.50kg) MEM)/E2H, BEMA(2 |DHCHIH /2B M H(2EA)
(8.00kg) THED /ZEFA(2A) CHAIDH/ Z 2123 (A=) (1.60kg) [2) (0.30kg) (1.40kg)
S2Jt2 (12.00kg) (0.60kg) S2/HIEBH2A (1.60kg) S2/HIEEH2A (3.80kg) DHERIH( YTl /& 8
T (HIY)/&eH (3.00kg) |[aF/2014] Ols/ZEMHA22), BXIMA |Ots/ZERMHA(2E21), BXIHH | (5.00kg)
SE(Z24) (0.01kg) A= (ZAZ)/EEA (18.00kg) [(0.90kg) (0.70kg) DHERIH(sMI TRt /& &
[g22X] Q0[(M0])/&&A (23.00kg) |ZXI(2EXI, ) (2.00kg) [A3(ZA3) (0.30kg) (5.00kg)
22X (ZRAX) (27.00kg) P(EHR)/&SA (30.00kg) |LOH/ZERA(2H24) (8.00kg) [[BH=EZXI]
[01==0t2] A22(F2A3) (1.00kg) SMHMK(It=s2tR) (5.000) 2XI(BH=ZX) (32.00kg)
0IZ=J12 /34 (12.00kg) U/ & 2F (1.60kg) EI|1E/=4 (0.30L) [4=4t]
2= (48.00L) I/ 2B MA(224) (1.60kg) |TH(BI)/ZE A (242) #=8+ (150.00kg)
AE(SHZUSRAIZ) (8.00kg) THCHIH) /2B A (22) (0.80kg)
of |28 (33.00kg) (0.90kg) Sx(H24) (0.01kg)
SK/H(X) (45.00L) Sx(A24) (0.10kg) [(E22x]
[20l2xl] 22X (B22XI) (32.00kg)
22X (2012 Xl) (35.00kg) [2HEE A
[BSII9::] HE(LEZ2HE) /24 (3.80L)
III(2EIIS) /LB (58.00kg) | D=IHR/24 (0.40kg)
MM/ E2H, BEMHD
24) (0.80kg)
CHAIOH/ el (A =X) (0.50kg)
Ots/2EMA(2HA), BXIMH
(0.40kg)
2x/X&A (0.70kg)
SE(RY, OtADHIE)
(0.80kg)
EI|IE/=4 (0.80L)
THEIN/ZEMA(2A)
(0.80kg)
[HHLELH]
gELELE/ 28 (70.20kg)
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